Math Numbers and Operations 3_3

Student Name:

Date:

How many parts in all?

gray part = ___

1.
A B C
Which is a hexagon?
B.
3.
Rico takes all 3 balls.
How much did he take?
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Which value is least?
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gray part = ___
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She eats 3 equal slices.

How much does she eat?
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10.

Hans eats 1 muffin.

How much of the box is left?
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What part are @ ?
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This line is divided into equal parts.
How many parts are there?
B. 3
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Which is here?
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Zev eats 1 bagel and 2 pieces of =
7 _
bagel. ==
How many bagels does he eat in all?
A 3 12
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B. 2 B 1
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C. 3 14
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1 _ 2 Which value is least?
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